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Exponentials Unit
Tentative TEST date

Reflect - previous TEST mark . Overall mark now
Looking back, what can you improve upon?

Big idea/Learning Goals

This unit introduces you to a new type of function — the exponential function. There are many relationships in real
life that sither grow or decay at a constant rate, for example: population growth, or radioactive decay. These type
of relationships can be modelled with an exponential. Before you learn about properties of this function, you must
review exponent laws from gr.9-10 and learn a new exponent law that allows you to work with rational (fraction)
exponents. Keep in mind that this year you will not know what the inverse of the exponential is, this is something
that you will learn in the gr.12 advanced functions course — but to take this course you must take the Math for
College Technology MCT 4C first.

Success Criteria
O | am ready for this wnit if | am confident in the following review topics

{clrzla memp-:ay:u are good 3t & ravlew the onzss Fou It uncircied before ¥au ;E1 b far I:el‘lr-:l:l
Simolifying sxpressions, solving equations, fransformaiions, funchion notation, domain & rangs, exoonsnt IBws

O | understand the new topics for this unit if | can do the practice questions in the textbook/handouts
{check off the toples for whizh you have Anlehad the practics)

Date | Topics Done?
Warking with Positive Exponents

Section 7.2 p400 #5,6,7.8.9,11 & EXTRA Handout

Warking with Integer Exponents

Section 7.3 pd0s #4,7,5,9.11,12 & EXTRA Handout

Waorking with Rational Exponents & Solving for x— 2 days
Section 7.4 416 #7,10,11.14.15,17 & TWO EXTEA Handouis

If there is time — Collecting Exponential Data

Handout

Properties of Exponentials with Graphing Calc

Section 7.5 pd23 #1,2 4

{uga graphing t2chnclogy onling to helg you If neaded)

Intro to Exponential Growth & Decay

Section 7.6 p430 #4 7.9 1011

Practice Exponential Growth & Decay

Section 7.7 p437 #2 3.6.8.11,

O | am prepared for the test/evalutation if
= lunderstand the main concepts from each lesson
= Tnal, 38k offer siudents In @ass 1o halp you study or visl iha pear futorng room or @sk ha eacher far hals or get 3 privale fuiar
= aleo pracice “Lnowlsdge-undarslanging” QUsstions from e kexinook — ook far quastions marked by K
| can explain/communicate the ideas clearly
= Tnal, practice 2xpiaining 3 solved QUESTON 10 S0MEINa 2l Or COMZIE2 e 3ssigned joumal questians
= aleo pracice “sommunicatian® questiors from 1k taxdback — ook for guecione marked by &
= | can apply these concepts in word problems
= Tnai, practics “applcation” quaslions from the 1=xtook — kol Tor questions marked oy A
o | did not just memorize steps to do for different types of questions, | understand the ideas behind
each concept and therefore can do problems in new contexts
= T nat, practice “tninking-noury-prodismEoling” questions from tha texiboaok — 100K for Qusstons marked oy T
= | can do guestions independently
= Tnal, iy redoing an alrasdy ecived axamole withoul [ooking 21 solutions
= | can complete questions guickly and with confidance
= Tnat, try timing yourssll for eimilar tvoe quastions to s2e progress
= | completed the review and/or practice test

Comeactions for the textbook answers:
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Name:
Working with Positive Exponents

1. Why do you think exponent notation was invented?

Used as oo shoeuk fe &S =5

2. Summarize the exponent laws you learned in grade 9 and provide examples.

Law u GENERALIZATION EXAMF‘LE
- keep b Haok™ ove
Multiplication . -H.E Sa:&: 33 = [9683
= — add mvneo(porwJ?S don*t nubhely 3093
- 3 He 5
Division&:‘." an'm m”s bave thel- %: :}'1 = a4o|
& - subback exporads dort dividle ¥ od 3 U
Power of a P:\:mrrfr Am : %&M{K&m 1:33']5—_ 3"’-; 59 O'i?
@"=a
— bl exgorak n [ ee e
Power of a Pr-;:tductxa N (;J\ Muf;\\ ‘-Sxﬁyz |'= 53:1' 5 —-l&'gill(\J
@,\:5=Q, \o skt ONE on or) base Jivhoud exfanJ«’
9 i— ."'.—, P 8 20 lo
Power of a Quotienty s - LE}N&* W i3 =ﬁ_ =32 -
oo\ & Ry 3“’ " S0ty
v) ¥* J
_ wals ONE
Zero Exponent a&waaj 2% "= |
o=
0 Such QWLE i s
ﬂ Power ofAUm,/ Diff r\! ContY Andtude "‘?”""‘j {2] + x} (&%'(’1—)&3*1')
—MUST expond Hhe Loy uidy = 98, 9% 9% 402
=6+ 3utda et
Write each expression as a single power =64 tlbxta
m 3. ‘6'62 4 4_2: L{—B 5 tsl'jl'
;C)S 4 -

=5
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Simpl‘ify .

3 6 3 4 88
=a'ft) >+H 12"
3(4)s >
— + =& x
=l P

=2 x
>

Simplify first then solve for x.

Bg 3T =243
Yysall &

Bgaau\(b

Z3=S

11, ¥ (x*)=1024

~

o (=D
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10 65+5=221"%

6= 2l
W) € =&ccor

b =2k

LI T
(307)
- ‘11'1 \2
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AP



4|lunit 7 11UC Date: MName:

Working with Integer Exponents

1. Explore what negative exponents mean by filling in the table IY\EP(I\' t Lﬂ}a 'H\L ,GGSL ov%é' divizso~
: me. +

Division EXPAND & DIVIDE LISE EXPONENT LAW "9 POS. -QX"
/222 1 L 2 : = o 1 _.9°
3.9 —ii i | S ) bo =
22 AT 2 o 2 < a2
-2
EEED 35 - L T 2L =3
BrEy 3 3wc3 72 S
5+5° ,__Z—. = l =S - g'—“: 5—’ o: _L‘5= 5
z.g.g.g [ 5™ S '
10¢ =10 Jorrlo-le - | ST - =/07" . fk=t0
(o-tosfosto- /o (O (o~ b 40 )
3 as > 1 S T - 45T 97> S =
=X T ?1% 2{;— X A =B

State another way to write the following. (HINT: if a base has no exponent on it, place exponent OME on it)

3=l 3 47=_L = 1 2 92
5233»,7 Vo 4,2_43&
) ! ' 2 'y
5 2x7= 9@,})’&; 5 S 5(‘1‘)=3(l&)= "R's ; 37 = 3‘_5,‘_" = 3,@24\1_
T Soommll )T Ty
1‘—
%
@ 1-6=2 5 ?]4—‘ T -2-% 0 0= =8
6 ST S T o= e
S_zc,_l——_‘_'_A— —,_\’ 3 :3L§L \‘;'-]__ -l
1157380 36 1R ”'F_,S(ag)) 13.‘;‘5—_-’3 »g%;
=35 N

u 14. Summarize the negative exponent rule

m ase. it~ He
th'é o _H.L &Mn i~ /a,’yu_, )
Néd“\& %eo -n_ | o 4 la”
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15. There will be several ways to simplify expressions, depending on what rule you start applying first. Final answers
should still match no matter what route you take. To make things easier try fo use the
\oowe(‘ powWer law first and ng onve ohn-\‘l': lawr IeusL o H
(O | d v can oo Guisivm AW [ foo

16. ﬁ.ppl\,r the laws to the following examples as you simplify the questions. Leave everything as exact num b@rs with
positive exponent answers. gc o 'f'af'

@ Co g,

2 (4x) x4 b (3d7) %347 c. 4( Z\xsx”}'zx{-?‘x"f)'z
Aty =xd 3 1)":5030 &
= » A .
i =34 44
A6V -3 -y
Y Iy
-3 Y b

(k) () ] O

6x’ ¥ -

‘tﬂ‘c&_— L Pty SO NOE pr
< set C 6 DJ-l

= !—3340—8 C’) (@ -a = 67-?(3%'.1‘33

6:{"‘\5"

= — . Yy O, = ﬁ%)(a’-»)j \
@)ec (' ¢ 6

- 4 wira = alt
\ -2 b
:0\ _ l13 a‘\ 6 .
,(5_/? (—_LY‘ } 73&3‘:,
=~ Mo’ *
-S|z
= oY
_g“laa:}
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Working with Rational Exponents

Name:

1. What does the word rational mean?

2. Use a calculator to complete the charts

For example, to find 4%, use the sequence E@mlgzmg
To find -J_ﬁ use . button: Ellher- .IE‘ or E try BOTH to se2 which way you need to remember
1

RNTINN = TR ACTIoN

Py Ya= U 168 = & fie= A
: > 7o Y HB125= 5 3125P= 9
2 b V216 < 256t Y $256= Y
J25==5 25tz © 1= 2 grf= 5 \,X“'
6. b Jie= 0 1206t = @ f1296= b 'bse'/
a aé a‘; a:;rg ag / ’Q" *{,
8 1 2 b _o G A
g-ff=2 |g-¥F=rza|S V= F=% T Y3l g™ \[‘? =R
64 | G4P=Yeu =X M= Y=y =lb al 5k loz
125 | \35 = (s = ast |as bas] 3as

u 3. Summarize the rule when the exponent is in a rational form % and =

Ond O\Jﬂ"’ W

4. Rewrite the following in a different notation. Simplify if possible.
(HIMT if brackets or exponents are not there —

q \
b.

- ;1”" o (@)

f 1213

2,

=)

:“
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Name:

5. Write as both versions. Evaluate using the calculator for both versions, HOWEVER if you get decimals or error, use

laws of exponents to simplify things first!

: ol ' - Ob‘k “or 1 des
ﬁ a. —41?;/_ ot zi@ ( \.:_-7,) b. [_—12_;{] 3 . [i]‘ : cyi
— T — 2?- \
--3 T ROk S
for soma._ 0 S —’J—»")’ pe 3
et YL et ey O ©
5o 1,\2&1= e ¥{-g°=0 i 6= IL\"‘“—l
= |3\
= “
do
-3 {3 s
9 8?='5%1_. h —251= " a‘f'b | 8142‘{@:—3 "
- g‘l’ _ 5 _ 3 -
i = -5 - l
FE
6. Solve for x
Ea_x%=?' b_xézg
@j‘—" 3(1’ 12k )"15__ 8’1[3
x =44 ol \ﬁ“,_:a«._: Y
“"C?u: Blﬁ g Sly d_ij: {23 "
U Nz §| .
&) N
- X \‘7
e :»:S 1= Y@s®
o= M 1= 5 =19
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MORE Working with Rational Exponents & Solving for x

B 1. Explain why you would get different answers for:
Y675 and (27x)° o
A " NOT the some QuISAR  powre
can '\n‘xz\’ \DY"-M ke
Skl
2. Explain the steps in simplifying the following. Give a reason why you can't cancel x° or divide 512 with 4
51 . ° M Sl dnvision Yok
512 Q—m,& oo CO=
ast s e & A AITY w%ﬂvhum +W-SM
X

6\1'31 Z_:L_ 25 =
T‘V ax 9“'

3. Simplify the following. Keep answers as exact reduced fractions and and don't leave answears with negative
exponents.

ve 070d ol < =

4

ig)

1 _ 22 =

a. IIS;‘rﬁv } I:”?x_l‘u-'e'] . b 64m LS &_ﬂ_

Gy Al = 3 ' 343 34y 2
783 53 D aq, j

-—lo
- b m -1
*&xg ) 13 TR (6m"
'Q:La 3 - %
3
. L3 ERVERINE A
g e (2564 )¢ d [3&2}; as |
Dly 3‘/-1 A B Y add
{ L
= & © =3 (-9 o 3es
- Q‘ioL B %o 2 -
""'Q’ a. —7 (e
o == Ja®
3 '1 \ " -'\/‘1
|S§c4},zw‘-’ L2 g5 40
L J 2 S
ax \/“' _L--A-
_o e R ) = 5q 3 Y
. 4o
D:l “Ny Sy T
x 1
*
o
\ - |

21"y XA
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m 4. Solve the following for x. HINT: Try to make the bases maich, and combine multiple bases into one single base for
each side, using laws of exponents. Then do trial and error.

a 3=l S 5 [1J‘“ st L
5 ‘9:3 125

S
5o Q,)(QOYQA\S O L 5
W-5H=0 W)y
n=5s 5 =G
3= %5

on eﬂ@w& N
W) =73
Yy« 32 =D 42

Qi< -\
1= A < "0
5
m c 54—.‘:‘ - 5.1( N 4.1’ i _ 233:-!-’5 e ?21 . ?3—1 — 491’—5
16 ;}()’L 'y L(,‘L'\";\

:v BXRDMS R

6
Ll’:(,\-}:L KY b\ ) . 2 =L L)

14k =
=2 D\m—w ) 93 * Y

=% % Q/\@\\Q—c\“ o’
2o BRooreds O g DX '3&‘“%
R “/;;& SERAUNT
&b N>
e T oy Yo = 2%
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If there is time — Collecting Exponential Data

Eli “M” ination — Radioactive Decay of Atoms

All matter is made up of atoms. Some kinds of atoms have too much energy and  Materials

are unstable. These atoms are called radioactive. It is not possible to predict ME&M or skittles for groups

exactly when a radioactive atom will release its extra energy and form a different  paper plates or napkins

stable atom. This process is called radicactive decay. In this experiment you will Plastic containers or cups

model this process

1. Pour a bag of M&M's or skittles onto a paper plate/napkin so that the candies are one layer thick so you can see if
they have the logo in them or not. The candies represent the atoms. Count the number you have at the start and
record in the table.

2. Remove all the M&M's with the logo showing on one side - these will represent atoms that have decayed. Count
and record the number of M&M’s remaining on the chart below.

3. Pour the remaining candies into a container. Shake the container and pour these M&M's back onto the plate.

Again remove all the M&M's with the logo showing. Continue to repeat this process until all the M&M's are
removed. Add additional trial numbers to the chart below if needed.

4, Fill in the table and sketch the relationship. %\&3\}\\6@ \N\\\ \IO\/fb

= O Il e spre e —— v

Radiocactive Atoms
Remaining

Trial Number

Start with

1
2
3
4
5

NUMBER OF ATOMS REMAINING

TRIAL NUMEER

Exponentials Page 11
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Germs! Germs! — Exponential Growth

Materials
Certain bacteria, under the right conditions, multiply themselves. Paper
You will use strips of paper, each representing a bacterium, to model its growth.  Scissors

BNSWERS il U0y

h: Cut your paper in the following arrangement based on group number you're given
Group 1 Group 2 Group 3 Group 4 Group & Group 6§
Pieces of
paper to start 1 3 3 1 3 3
with
Cut each
given piece
into this many 2 2 2 4 4 4
equal pieces
each time
&. Fill in the table and sketch the relationship.
Cuts # of Bacteria
Start with
1
2
:
3 3
4 -
=
5 =
E g
7. Clean up after your group please.

20F CUT5 MADE

a 8. What is the domain and range of the Radioactive decay question? Explain.

9. What is the domain and range of the Germs quastion? Explain.

Exponentials Page 12
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Properties of Exponentials with Graphing Calculators

m A. Complete the tables of values for the functions g(x)=x, k(x)=x" and k(x)=2"
B. Calculate first and second differences. CG RiPH PVD

x g(x) | 1%diff | 2™ diff X hix) | 1%diff | 2™ diff x k(x) | 1™diff | 2™ diff
3 1 / o 1 -5 2 —3 | 1=o0Mist o.lzy | o.es
= | / - 4 -3 2z —2 |y*=025| 0.y | oo
-1 1 [ / -1 | -1 2 -1 '=05| oy |
0 [} | / 0 o \ Il o [2°=) I 2
1 | | / 1 \ 3 2 1 [=2] T 3
2 1 | / 2 Y < 2 2 =y | y 4
3 3 v 3 '1 ¥ 2 3 §| & &
4 Y ' 4 6 9 4 ] b
3 S 3 Ay = 3
C. Graph the functions.p \/\t’) \L(‘*) D. Complete the chart for each function.
DOMAIN RANGE
I/
/ glx) 1ER JER
/
oot ] | AR yeR, Y7o
\\ / o | AER géR , @
/ () NIV |
E. How do the y-values change as the x-values FWo.
\ /i change?
e 0 \ ,/QA\'\‘D\’ — 3"\10&&“—5 CJ\!R\Q,L Md”j"
A > quadrdi - grudies chonge Sy Gy
wo ,..,J-ml- -V 0“-“’?» 2

ﬂ F. Graph the functions ¥v=2%, ¥ =5" and y=10" on a graphing calculator.

G. Complete the chart for each function.

DiomaIN RamMEE |NTERCEPTS ASYRARPTOTES
y=2"|  zeR YER, 420 | 2-mt MNE y-wb0,1) HorRoohl y=to
y=5 \ 1 I l
y=10" \ ! I l

H. Which curve increases faster when you trace right? Which one decreases faster when you trace left?

0™ clwgp; faste et~ sicde !

Exponentials Page 13
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m . Graph the functions ¥ =2%, y=f%]x and J-'=[ﬁ']x on a graphing calculator.

Complete the chart for each function.

DoMaIN RANGE INTERCEPTS ASYNMPTOTES
y=(1) Lef YER, Yy2©  |xinone y: (o) | Hot. y=o
y=(%) l
F=l10 \ | L I
K. How do these graphs differ from v =27 1
Thase 3rv~@|~> o\u,m& fomm /Q'Uq’ Yo ’”Z)L‘i_ base =z <)
2% R gt bose = >
a L. What happens when the base of an exponential M. What type of functionis f{x)=5" whenb=1?
function is negative? ° aces frorm X G-
) = m o\
_L;O bo:,,zj-\-af’ 3 \. Léove o n s ’
- NevER \* oradial |
Ny erse & Never have base = no W
E, M. Describe how the graph of an exponential function differs from the graph of a linear and quadratic functlnn
L“ : Constont (TA'L’L Q\-“"‘J\ _dac £t e ‘EXP Consn
chivop ~vodams gnw\’k
- withe & a0l Co‘“.\,'& Jegog

0. How do the first and second differences of exponential functions differ from those of linear a uadratic
functions? How can you tell that a function is exponential? Atracer = N-d‘;)- WS preVe . \
=+ A‘G‘i—eg\w o He

Lineoe — o
Quoadrdie — 9~ dilkaces oo fu Smat e

w frol
e o sane — °
Exgwm - No”mé the “:; ﬁ‘wr“ SJ,:LSW-. TP = mﬁ/g = ,,ujy

u P. Investigate the graphs of the exponential function f[x] = 5" forvarious values of b, listing all similarities and

differences in their features (such as domain, range, and any intercepts and asymptotes). Generalize their
features forthecasesb>1land 0<b< 1.
Note: An asymptote is a line that a function approaches, but never reaches.

DIFFEREMCES
when b > 1 | whenO<b«=1
%mws ‘ Aj_r.ag
L '\L_)
SIMILARITIES )

Exponentials Page 14
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Name:

Intro to Exponential Growth & Decay

ui

EACH lettar in the context of a word problems.
After you do question 5, come back and adjust the equation.

= o \035

o) i o doprdat g

— il volae o€ 3""&””"{'

J

[+ &

- Qrowith /Ay

fuctor

2. Clarify the differences between growth factor and

growth rate.

duth  fuctor = b
awth wle =

nCrtose 5%
Growth fuctor

LY,

Most (but not all) real life word problems of growth or decay have a horizontal asymptote at y=0. State the general
equation for exponentials that will most often be used for exponential word problems and explain the significance of

t
2oty iped o doprhck oeble

c- how i ol 7':" )
fgn:/aﬁacag é 4

3. Summarize how to find the ‘b’ in the equation.

: =
. Loole for  speciall wodds olouil_clrkb 2 e
o Look e % hople. =3 <.
r=0.0% o L: I+
% InCrease
=108 '/.,:Jccreaw b= 1=+

4. Set up the models for the following word problems. If not obvious, explain what each variable represents.

a
The value of the 5250 thousand

cottage increases by 0.1% every
manth.

oc  \J= &S0 000 (l‘w')

b &

The 40 grams of radicactive matter

m within a mass decays at 2% every

)= 50000 (1409°) ™ ¢ (o) o (1-0.0)

=Yo( o as)”

5. What will the equations look like if the questions were modified as follows.

a.

The value of the 3250 thousand
cottage increasas by 0.1% every 3
weeks.

W,
\/(w)= asowo (1xoe01) ™

6. Solve the following problems:

a.

A drug’s effectiveness decreases as
time passas. Each hour the 250mg
drug loses 5% of its effectiveness.
How effective is the drug after 150
minutes?l use Xhis

n
E(v)= aso(\- 0.05)"
KoM= QS hr

B2
£(as)= 250 (095)°

b.

The 40 grams of radicactive matter
within a mass decays at 2% every 30
seconds.

_t/s"
G() = \o (1-0-02)
.\\r =4o(0.8) e
Sec
b. nan-e

\Carhnn—@ has a half life of 5730

years. (If nointial amount is given, assume
100% is the inifial amount| Determine the %
of original carbon left after 1000 yearsﬁ

Cly)= o0 (05)7%™
C,(Looo)—, (00 (o S)Lﬁp

= (00 Lox&wﬁ S\
= 8&1 G.Z,

Exponentials Page 15

C.
The 200 fruit fly population doubles
every week.

Flw)-a0(a)"

C.
The 200 fruit fly population doubles
every 5 days.

F(d)=200 (a)d/’

c.

A 51000 deposit is made at a bank that
pays monthly percent, 1.5%
compounded monthly[How much will
you have at the end of 10 yearsﬂ

\ (\n\)= \ooo (l-ﬁ OKO\T)W'

10yes = (20 movths
120
V(129) = (000 (L0I5)

= jooo (5.2693.. )
=5969,32_
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m 7. The population of a bacteria culture is cut in half by an antibiotic every 30 minutes.
a. [Ifthe entire bacteria culture is present at 3:00 a.m_, what fraction of the bacteria culture will be left at

330 am.? &M\’ Ms How Mg,\D-% ‘(\/\h\\k [()D"/b o \
%Lm): \(‘\\v%o M= Y kot Jowmin

X(o

%Gp‘\)\ \ K ‘\ ™= d4o 430

= ')m)vn‘\“\‘é(es
=\
( 5\1: 0.60l4g &( 0.\45° s m&)

b. At what time will the bacteria culture contain ]_;‘8 of its original population?
_\_ = _L “%'0
g\
W’A L( ° K =™
ol o5 v\““fk s ¥ 0
K\ \n% A0 =wm

W\'\N\{s SN 9 -0

2 S Jonan Qoker @ D130

m 8. After half an hour L of a sample of a radicactive material remains. What 1s it's half-life?

L e e Awey 3 bl Yo ol
T

3& K’L\ + oiq L o (3-—\;40-\\?

FL\ ’ L\“ O e e
&Q\ % =0\ 5} : 6 w\‘\\\w\(ﬁ

9. An ant colony quadruples its population every month. Currently, there are 13 000 in the nest. What 1s the
monthly growth rate of the population?

A= m&k\m"
TR IR

W \af “&\,.w%b

ESTE 50“[ OB{O

Exponentials Page 16
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Practice Exponential Growth & Decay

Pizza toppings
ﬁ 1. Fill'in the chart below by determining the different pizza’s that can be created by choosing some or all or none of the
available toppings

# of different

Toppings available Different pizzas possible pizzas
possible
None ?\6\\\!\ coust wivh  souwse l
crust ceunsh
Cheese or cease L
(M-S‘\'" C,rus¥ cr\ld»“ ccwst
Cheese, pepperoni “ choose. peefer chere [7
. caust / crwst fernst et [ cank [ crust/ crwst [ crmsE
Cheese, pepperoni, c P m~ e c m c g
mushrooms r m ' P
nr

e |~ [T T | e

sIsNn

2. Sketch 3. Complete the statement:

......... As the number of toppings incregses by 1, the number
of different pizza combinations _\ncreases £j o~
........... I Q.

4. Find an equation that will model this relationship.

e et 3
2 P(&)=\(D
E o L ‘\,\'\\\“cw"ﬁr
w
e 5. Use the equation to find how many different pizzas can
e 2 be created if there are nine available toppings.
a
q
g -
s =6\
= °
G. [f the restaurant ewner would like to offer 200 different
v . . . .
pizza combinations, what is the minimum number of
1 available toppings she would need?
o \ 2 % Y4 3 [E E _ &t

NUVEER OF TOPPINGS

Ll € &cror
2= 1b
* =3

&: :c (1 o.a V\W-D( ar L_a; )L
a® =256 toppings

Exponentials Page 17
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Car Depreciation
Depreciation is the decline in a car's value over the course of its useful lifz. It's something new-car buyers dread. Most
modern domestic vehicles typically depreciate at a rate of 15%-20% per year depending on the model of the car.

1. A 2007 Ford Mustang GT convertible is valued at $32 000 and depreciates on average at 20% per year. Fill in the
table below. Hint: Since the car is depreciating by 20%, the remaining percent is = 0.20= 0.50

6. Sketch

Year end Value in §

0 32000

1 5a009(0-80) = JS600 X

2 23-000 (0. = a q

3 [635Y »

4 30 2o -

5 lo4gs. 7o § 2%

2N
A

2. Find an equation that will model this relationship.

U(g)~ 3900 (1-0:26Y
= 232000 (0.80)

R

©

DEPRECIATED WALLE IM§

N

3. How much value does the car lose in the 1 year? i T ‘1 e

\.030-— *'))im —_ aggw :SL\{OO YEAR-END

4. How much value does the car lose in the 5" year?

3 o%. 90 — IONRS. b :*&QDJ,LM ot %A‘(::.Jx A
SE Xy o raw o

:} O Ao b

bkl W o o\

5. After how many years will the value of the car be half of

the ariginal purchase price? \,‘!&g_ g A 000 = “o 0C0

O R HAehween A—3 Yo o
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Radioactive Decay

t
3 (15

MName:

1230
The equation A(z)= 1(}0| 3 I "~ was used to find the present-day radioactivity of some wooden tools

at an archaeological dig.
1. What do all the letters and number represant?

N= fead amad of rodtabon
t= bre n yas
00= ol cadrdee (% ’-)

Decory «Qa;) Hadt-
twve i faless to dacey

J’& Hodl-,
3. Fillin the table
Years % of Radiation
ENTRTAR 100
250 ¢ 1)
500 5
ASo .5
{000 bas
1286 3.25
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2. Find the percent of radiation left after 1000 years

oo

Loco) = (oo C_L)z"’
=100 [ 0.0835)
=6.a57 ,&g m\ww 5

4. Sketch




